S)IEEUMRERIADE®ESR

Frk2744 A REE
BT (X) £ e B ES B BT (X) £ HEH| B ES B T (X) £ HEH| B S &t BT (X) £ HEH| B ES B BT (X) £ e B ES B

XL 46 61 62 123|7K S BT 163 228 247 475K 280 346 375 721| = HET 69 109 111 220| R EHHET 86 120 137 257
AT 25 35 39 74| REBHET 226 337 297 634 (A 2K 314 399 393 792 |SZBAHET 53 81 84 165| & SHET 49 I 83 154
$ECAET 46 50 57 107| L& HET 101 142 177 319| A3 56 48 59 107 (45 ITCHTET 31 50 54 104|745 Fr iR ET 37 65 70 135
HEET 84 105 101 206 | {25k BT 24 49 37 86 |JL &= EET 592 883 909 1,792 (fIEFHT 21 37 46 83| fEIFZ E AT 14 25 30 55
FEHTHET 83 96 118 214| B HET 30 39 46 85| T AHT 75 120 113 233 |¥5 /TUET 95 113 122 235| L EHET 19 26 24 50
REHT 50 53 61 14| & SHT 52 78 76 154 [T BT 85 132 130 262 |RATET 244 320 332 652 | 5 HHET 38 55 68 123
B RIFTET 283 394 384 778 |2 BB ET 220 306 282 588|#EM—TH 76 96 115 M) 60 65 72 137 | FHTIRET 61 87 88 175
J\BTHET 14 17 19 36| EHET 97 146 153 299|FWM_—TH 101 113 141 254 | BLET 114 133 118 251 |5 EHET 32 66 64 130
L=k 19 28 4 69| 7K EHT 72 99 105 204|FWM=TH 105 108 139 247 |8 BT 459 583 579 1,162 % SHET 64 89 109 198
A RAT 25 34 42 76| fEHTHET 16 29 25 54| BT B 149 185 226 411 |HSHET 64 86 99 185| & A B HT 22 34 54 88
R— T 34 35 34 69 (R JIFHX 385 473 421 894|EHATH 78 105 104 209 | FfEAR 148 180 200 380 SHET 39 58 69 127
R MY 84 92 97 189|fEBm—TH 196 262 259 521 | AR 22 33 25 58| RABMX 119 159 155 314|BEAHET 37 62 58 120
R=FHET 26 27 36 63|FBETER 68 99 97 196|FTR—T B 160 229 260 489 |FEE MK 153 204 214 418|ILBE—TH 60 73 93 166
RIVVER 451 542 580| 1,122|BJIIMX &t 1,650 2,287 2222 4509|HE=-THE 197 258 268 526 |¥5 MET R X 78 100 102 202(ILB&=TH 91 137 135 272
[iAWE S~ 100 112 126 238| T HAEFET 89 132 122 254|$T L= TH 161 241 234 475| = ST 148 186 204 390(ILEE=TH 90 118 128 246
E/I\YERE 258 331 332 663 | F EAEFET 63 95 88 183| ¥R T B 148 245 242 487|FEE—TH 66 90 77 167|ILEATTHE 120 122 142 264
NWES it 219 223 244 467|/N LET 22 37 34 NM{FE—TH 149 188 185 3B|FEE-TH 126 153 187 340(ILEEETH 86 138 140 278
AT 456 653 676|  1,329| LAHEFHET 64 86 86 172|hE=TH 220 325 343 668|355 B HT 92 134 116 250|lLS&EARTH 111 172 165 337
3] 19 21 19 40| A EFHT 68 92 85 177 4L A BT 95 114 136 250|CPEAMIX &t 2,140 2,783| 2872| 5655|lUEHX 5t 1,056| 1,518| 1,657 3,175
AT 13 14 15 29|BFMX  F 306 442 415 857|dt=EAE —TH 126 179 211 390 | FHAET 183 243 239 482| FRER—TH 147 181 197 378
BRATX 19 22 27 49| B L BT 97 142 152 294\t =RATE _TH 17 242 285 527| £ Q& 54 77 88 165| FRER_TH 99 135 109 244
RETHET 19 21 30 51| ¥AZKRET 143 189 209 398 (g &t 3360 4589 4893| 9482|5 FHT 96 127 128 255 FHREBFR=TH 151 188 193 381
JBHET 95 101 107 208 | 4z RS ET 228 265 308 573 |{&E S ET 209 277 309 586 | A2 HET 194 292 314 606 FHEFRMTHE 163 204 212 416
FAARHET 434 593 558| 1,151 |4t BT 69 97 11 208 | AR 91 123 139 262|445 HLET 34 62 57 M| FRERETH 144 185 183 368
JEHERTX 106 105 125 230 | FT3RRE SET 16 26 21 47(HFE)IR 58 70 92 162|Z LET 81 115 130 245| FRERATH 156 221 236 457
EHEAR2E 191 259 252 511K SHT 27 46 40 86 | JEAH)IIX 50 81 81 162 | &Iz HT 135 163 175 338|FREFAE—TH 130 170 160 330
JEHEARIX 63 50 80 130|dL AR 72 61 88 149|481 78T 116 163 171 334 | EIRET 53 88 94 182| FREFB_TH 135 181 180 361
JEHERAX 190 285 262 547|ZME#H—TH 134 195 204 399 |+ FH T HT 20 32 44 76 | F #h BT 16 24 31 55| FHREB=TH 136 180 202 382
JEHEASX 341 418 453 871| BRI 5t 786 1,021 1,133 2,154|HHIF KX 5 544 746 836 1582(|# 9 F—TH 82 111 113 224| FREAEMTH 103 129 146 275
tHKR6R 190 248 230 478| = fRET 133 148 203 351 (= KET 479 677 615 1292(#F1EF=TH 52 77 70 147|FREBRTH 133 156 149 305
BXE-TH 142 158 163 321| LR 9 12 15 27| &= sk AT 424 555 570 1,125|#FF=TH 67 95 104 199 FREFBATH 138 171 189 360
HE—TH 84 102 99 201 (IR 11 16 16 32|t tEET 4 65 71 136|#FIFMTHE 94 127 121 248| FREBLTH 176 230 256 486
EE-TH 103 117 143 260| BHE 10 13 13 26| = 5K THET 65 86 102 188|#FIFHETH 67 94 96 190| FR&FFE/N\TH 119 135 154 289
EE=TH 95 118 133 251[3E{LET 39 52 67 19| {RAT 38 57 55 12|#FIFARTH 66 76 81 157| FREBE—TH 107 154 159 313
fAm—TH 98 108 17 225|£ ERET 24 35 30 65(/\FE FHET 52 68 82 150 |BEK—TH 97 147 136 283| FREE_TH 149 210 202 412
AH_TH 118 150 189 339|771 ET 42 50 69 119|/\ BET 129 180 194 374|BR=—TH 56 71 73 144| FHREFHIX 5t | 2,186| 2,830 2927 5,757
H5—TH 68 85 89 174| /N1 ET 40 40 64 104 |—I1ZHT 58 69 72 141 (MpiIX 5t 1,427| 1,989 2050  4,039|H4HT 106 128 149 277
BB=-TH 123 177 146 323| R #AET 33 40 50 90| & ERET 154| 212 227 439 |#;TET 397 531 505| 1,036 |SAHAT 101 117 124 241
*E—TH 132 145 158 303| = ERETET 102 160 157 37| REXRMR 358 514 486 1,000| E[EHT 124 175 173 348 | FE BT 94 129 123 252
*EBZTH 93 141 133 274|BEER 84 113 116 229 EER TR 189 258 243 501 | 12 FHET 322 430 399 829(FE — T H 110 126 128 254
KE—TH 149 173 209 382| = [RHET 68 100 88 188|#RAE R 112 151 141 292 | EH BT 353 530 503| 1,033|FH=TH 74 89 86 175
REZTH 79 81 91 172|SRHBX 5 595 779 888| 1,667|—iF#HEX 208 287 260 547|IX 5 1,196| 1,666 1580 3246|FHHM=TH 66 85 90 175
3% —TH 67 71 82 153| = ALET 140 226 234 460|HEViESE—TH 73 93 103 196 EIREFET 64 93 84 177
BH=-TH 60 72 78 150 K7k BT 85 131 137 268(HEVHEE-TH 116 147 155 302 REIREFHET 97 124 17 241
#%=TH 18 29 25 54 (¥AEEX 115 148 187 335(HSVHIE=TH 77 96 107 203 FE3EIREFET 76 91 92 183
BX—TH 118 167 187 354|FHHE—TH 146 118 176 294(HEVESEMT A 125 176 161 337 BmERE—TH 70 79 84 163
BHX=TH 9 8 6 14| HH#R-TH 64 79 78 157|/\BH KX 87 123 131 254 EERX 58 61 76 137
BEXETH 101 115 139 254K KFX 83 119 120 239(MBHBEX 5t 2,785| 3814 3775 7,589 NEHMX 5t 916| 1,122| 1,153 2,275
BRATH 52 68 72 140 (FF FH ALK 116 165 171 336

BAtTH 110 132 150 282 | R H PR 50 64 72 136 MEMIE § 26,130( 34,678 36,031| 70,709
BHXNTH 120 164 176 340 | FFHAEMX 49 69 55 124

BAATH 1 1 4 5|# HEX 196 262 291 553

BXx+TH 20 19 16 35— AKX 5t 1,044 1,381 1,521 2,902

HAR—TH 24 24 26 50

HARZTH 75 115 119 234

HA=TE 97 146 152 298

MEMX 5t 6,139| 7,711| 8109 15820
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BT (X) £ HEH| B ES B BT (X) £ HEH]| B ES B BT (X) £ tHEH| B S B BT (X) £ HEH| B ES B BT (X) £ e B ES it

EIELN 33 33 44 77|/ \EHT 134 176 202 378 | FLET 123 167 172 339 [ AT BT 5 [l 42 63 84 147| I BT 44 63 69 132
=)IIFETER 154 215 232 447| ="=H] 47 69 T 140 |F 3R BT 220 261 294 555 ;R NRTTiE 37 43 45 88| FAAETHT 23 34 38 72
=) HETFE 38 51 59 110| &= LLET 218 301 340 641 | &EFAT 243 359 380 739 | ] N BT 4 ) 104 133 166 299|773— /LBl 30 48 44 92
E)IFETER 122 149 165 314|h EHET 48 80 84 164(BAX—TH 95 147 141 288 ;AT NETEY DB 52 7 78 149 7] & BT 59 83 98 181
EJNIE(d:ari) 32 42 48 90 (R A LLIET 45 77 70 147 |3 & F T 40 60 57 17| NETS LA E 56 72 66 138|% [EHT 42 47 46 93
EJNIBl4: S 40 43 52 95| —/BHIX 5t 492 703 767 1,470 | 38 A SR AT 36 67 66 133 [FAINET O E &5 15 22 23 45| T EFET 42 71 74 145
EJNE i) 46 56 57 113|#BsR S HT 105 102 112 214| 7R 2HET 65 99 108 207 | NRT R E R 3 3 5 8| L EFHT 103 164 172 336
EJNE IS 34 42 45 87| BB HTHT 90 121 130 251 | F T AT 159 225 231 456 | 3] RIRT BLith 6 4 6 10| = 3R HET 32 44 48 92
EJNE R 55 70 66 136| &8k ABT—T B 30 40 46 86(BALEM T H 185 252 257 509 ;AT BT AR 21 25 43 68| FTHHE 25 22 34 56
EJNER:ES 27 28 38 66|E5EART—TH 30 35 46 81(BAX=TH 17 136 149 285|;A] RETIR & 9 10 12 22| EHE 22 30 29 59
EJNE i) 35 27 46 T3|EBEARI=TH 40 61 67 128 (%05 FF AT 133 190 194 384 | ETHR B 17 19 18 37| B = HET 59 75 92 167
ENISETR 150 185 215 400 |EREARTM T B 200 261 264 525| & A ET 177 265 269 534 ;A N ET & H 6 4 3 7| BI'E Hi BT 17 23 24 47
EJNECESE 44 43 57 100| &K 24 B BT 156 192 215 407 | ELEFHT 101 149 157 306 ;AT ET T4 4 4 2 6| H2ZRHT 47 48 45 93
X HERTR 73 104 105 209 | &8 K& IR AT 112 129 136 265 | EAEF AT 83 95 105 200 ;AT NETRE 19 20 21 41| #FEKET 29 34 43 77
EJNP:ar) 89 91 113 204 |#53k L 3RAET 34 37 44 81| &P AEHT 90 116 11 22750 § 391 493 572  1,065|3E2ET 16 18 22 40
X)IERTR 104 134 130 264 |#53K T RAET 29 33 42 75| E S FHT 324 429 427 856| FHE 62 87 88 175 | ZE HEL T 14 11 13 24
EJNE NN 39 45 52 97|88k B 35 44 42 86 | FTAEBAERT 33 42 38 80| LE% 99 105 127 232| = ARET 4 1 3 4
EJNEN/N:ES 81 78 89 167 | #8340 <F BT 173 203 229 432| MitX  Ft 2224| 3059 3,156 6,215(BRE DR 54 80 69 149 | 45 4RAT 3 3 2 5
E)IFKRETE 197 280 284 564 | &8k S ET 84 98 121 219( B MET 176 255 270 525\ R 19 32 36 68 | B F BT 10 9 9 18
EJNEPaES 243 265 308 573|#53R K F BT 33 35 40 75|F QBT 127 179 211 390 KPIE 16 3 13 16| E+ &8 0 0 0 0
X 5t 1,636 1,981| 2205 4,186|%EkAEHET 212 264 275 539| KATET 62 92 96 188 | #AK 33 23 37 60 |#1 R BT 2 2 0 2
REAT 271 354 401 755 | #& 3k K EFEHET 90 141 150 291 |BAA S HT 21 29 35 64|mR 35 58 50 108 | F tth BT 0 0 0 0
F Hy BT 258 326 339 665|EBRKFRT—TH 8 10 11 21|17HT 64 94 98 192| FTAR& 25 39 40 79 (4H;ERT 22 29 47 76
FHEHHT 40 58 60 118|EBRKFET=TH 56 81 95 1765 / ERET 42 63 79 142| £ KB 24 28 29 57|ZE/KAT 42 49 62 111
RIEAT 50 79 76 155|#8R/KFRTEET B 30 36 40 76| R FEIFAT 55 71 76 147| KiB#H 12 15 15 30| TEAHT 60 83 99 182
FERSLET 140 227 215 442|883k B & HT 29 38 50 88| /RET 49 70 70 140(hE 50 47 52 99| L EHAHT 43 57 65 122
B BHT 276 370 397 767 |ESRMIX 5t 1,576 1,961 2,155|  4,116|4eKHET 23 31 34 65| S HME 5t 429 517 556 1,073|Fa{E RET 32 50 53 103
SEthET 74 107 111 218| A 45HET 235 343 368 711 B R i 308 394 418 812 =VEEHET 55 83 105 188
Boy)if:i g 244 317 339 656 |/IMDET 190 253 273 526 |-C R ETHET 154| 206 223 429 SR L ET 46 63 73 136
HEHT 311 426 449 875|BAX _—TH 157 208 190 398 |#53k 5% SHET 207 269 286 555 UN:ioa 5200 5 5 6 11
BB 13 14 21 35 [/MIIFTET 89 115 138 253 | ZRARFTHT 156 215 215 430 JA4THE 17 25 13 38
EETHE 134 226 210 436| B {HFET 269 370 407 777 | /4R ET 10 18 14 32 Stz 5 945| 1,274| 1,428 2,702
EETX 118 186 205 391|BASRETIL/E 45 54 65 19| H O 8T 54 85 90 175 =55 54 59 69 128
BEETH 118 204 192 396 |FHSETE /K 24 33 36 69 |4 ARHTHAT 139 208 205 413 A 5 5 4 9
IREX § 2,047 2:894| 3015 5909|B8 BTt 50 72 75 147 [$B/BIX 5 1,647 2,279 2420| 4,699 BF 84 86 111 197
EEX 48 68 71 139 |BA B ETF/+F 38 49 56 105 ZR 31 26 44 70
EAT2X 52 55 81 136| &/ R HHHET 29 39 43 82|ESRithizs & 8,139| 11,066| 11,592 22,658 ®=0O 23 21 22 43
EBT3X 45 52 62 114|EHS&AHET 79 123 120 243 R 8 6 6 12
EETAR 49 55 70 125| EFSHT 52 77 73 150 Bra 1 2 1 3
EET5X 127 168 174 342| FTHEHET 87 129 108 237 HPREFX 24 32 37 69
EET6 X 149 173 187 360|FZESEHT 169 250 228 478 EOiig 3 230 237 294 531
EET7X 36 51 53 104 TR ESHE 227 309 289 598 =[5 273 340 357 697
EET8X 91 97 115 212| RFFSHT 249 321 322 643 ) 89 101 103 204
EETOX 108 111 123 234|db 7% SET 131 181 180 361 THER 0 0 0 0
EET10K 230 290 318 608 |75 7 SHT 27 39 36 75 BUEhis 5 362 a4 460 901
AR 8 14 11 25 R EET 53 99 87 186

EE12K 157 256 244 500 | &L 2200 3064 3094 6,158

EfX 5§t 1,100/ 1,390 1,509 2,899 & 5 41,409| 54,971| 57,662 112,633
ESNlhicic e 4783 6,265 6,729 12,994




